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Free Hand Highlight

Free Hand


1. g (15, 8) A AT Reg A @ Fm gl 2
A) 15
16
:
,

B
C

~

(A)
(B)
(C)
(D)

D

oo

What is the distance of point (15, 8) from the origin?
(A) 15
(B) 16
(C) 17
(

2. WA XWTy = 2x - 3 1 3o oot H & fohd foeg & grepT ot ?

The graph of the straight line y = 2x - 3 passes through which of the

following points?
A) (2, 2

C

w
I

(2,
@3,
B) (4,

—

(A) )
(C) )
(B) )
(D) )

D) (5, 7

3. x-378T W dg faeg o =gy (-2, 0) Td (6, 0) & FAGEY @, ¥
(A) (0, 2)
(B) (2, 0)


Free Hand


(€ @G, 0)
(D) (0, 3)

The point on x-axis which is equidistant from the points (-2, 0) and (6,
0) is

(A) (0, 2)
(B) (2, 0)
(C) G, 0)
(D) (0, 3)

4. y-3716T ¥ f9=q (13, 15) Hr glr ¢

5. fhell g9 & =ar g & &R0 & fdene (-10, 6) T (6, -10) & d g & Hog
& fAdene ghy

(A) (-8, -8)
(B) (-8, 4)
(©) (-2, -2)
(D) (2, 4)


Free Hand


The coordinates of the ends of a diameter of a circle are (-10, 6) and
(6, -10). Then the coordinates of its centre are.

(A) (-8, -8)
(B) (-8, 4)
(©) (-2, -2)
(D) (2, 4)

6. afe fordll 3feT & oSt & A (2 4), (0, 6) aur (4, -1) &, ar
st & Feaw & g g

(A) (2, 3)
(B) (3, 2)
(€) 3, 3)
(D) (2, 2)

The coordinates of the vertices of a triangle are (2, 4), (0, 6) and (4, 1).
Then the coordinates of centroid of the triangle are

A

N

3
B

o
N

C

o
w

(A) (2, 3)
(B) (3, 2)
(€ G, 3)
(D) (2, 2)

7. Reg (13, 19) ¥ x-3H8T W 3108 T g HY oS §


Free Hand


The length of perpendicular from point (13, 19) to x-axis is

A) 1

w

B
C

—
N ©

(A)
(B)
(C) 3
(D) 6
8. W=q3il (-2, 8) Td (-6, -4) &I fAGATCN IWWs #T ALY fooq g TqTer
H Eaa g ?

(A) 99H

(B) afaca

(C) Ja=

(D) =¥

The mid-point of the line segment joining the points (-2, 8) and (-6,-4)
lies in which quadrant?

A) First

B) Second

C) Third

(A)
(B)
(C)
(D) Fourth

9. afe P(0, 0), Q(8,0) g R(0, 12) frdly APQR & 2fi¥ &, ar APQR T
LTSI


Free Hand


If P (0, 0), Q(8, 0) and R(0, 12) are vertices of any APQR, then the
area of APQR is

10. el P & i Regait & e (0, 6), (0, 0) wd (8, 0) & ar
Prarsr 1 afkfafa gl

(A) 14

(B) 24

(C) 42

(D) 3o ¥ g A&

The coordinates of the vertices of a triangle are (0, 6), (0, 0) and (8,0).
Then the perimeter of the triangle is

(A) 14
(B) 24
(C) 42
(D) none of these

11. & Y @s Teleoll & @ Ife Hured 3I@e § ar 394 fohdsr g giar
A

(A) T
(B)aﬁé’sﬂa@r
(C)
(D)

C
D) 1 & @Is oTel

AT &


Free Hand


If the graph of two linear equations is coincident lines then how many
solutions do they have ?

A) One solution

(

(B
(C
(

No solution
Infinitely many solutions

D) None of these

)
)
)
)

12. GHEROT 2x -y -3 =0TF 12x + 7y - 5 = 0 & 370 FH IR $I
3T WU giafr ?

The graphs of equations 2x -y - 3 = 0 and 12x + 7y - 5 = 0 are which
type of straight lines?

A) Coincident straight lines

(
(B) Parallel straight lines

(C) Intersecting straight lines
(D)

D) None of these

13. X - y = 0 & TG HAUT T 3@ gy ?


Free Hand


Which type of straight line will be the graph of x -y =0 ?
A) Parallel to x-axis
C) Passing through origin

D) None of these

(A)
(B) Parallel to y-axis
(C)
(D)

14, [AFIfaf@T # @ S gfdard T § ?
(A) (x +2) (x - 2) = x* - 4x°

(B) (x + 2)* = 3(x + 4)

(C) 2x® + 3) = (5 + x) (2x* 3)

1 _ 4,2
(D) 2x + = 4x

Which of the following is a quadratic equation?


Free Hand


If one root of the equation 2x*> + px - 3 = 0 is -3 then the value of p
will be

qrEdde 3 AT § ?

For what values of k the roots of the quadratic equation 9x* + 3kx + 4
= 0 are real and equal ?

17. 9 x* + 3px + 2p° = 0 F HA o, BT AU o +B° = 5 &, dl p &
AT &

A) £ 3
B) +

C

+ 2

(A)
(B)
(C) + 1
(D)

D) £ 5


Free Hand


If a, B are the roots of the equation x* +3px + 2p?> = 0 and o® +p2 = 5
then the value of p is

A) =3
B) + 2

C) £ 1

(A)
(B)
(C) £
D) £ 5

18. gfaard HHIHIOT @ p> x° - ¢° = 0 & Hel g

a’p?
(A) =%

WWW@W


Free Hand


The ratio of the sum of the roots and product of the roots of a quadratic
equation x*> - 15x + 50 = 0 is

(A) 3 : 10
(B) 3 : 25
(C) 3 : 50
(D) 5 : 3

20. afe efaerd FHIROT & Hel -5 T -1 §, @ cfaerd F#iehor grem
A x> +6x+5=0

(

B)x*-6x+5=0
(C)x*-6x-5=0
(

D) x> + 6x -5 =0

(D) If - 5 and -1 are the roots of a quadratic equation, then the equation

will be

(A) X2 + 6x + 5 =

(B) 2 - 6x + 5 =

(C) x> -6x -5 =

(D) X2 + 6x - 5 =
cos60°+1 _
c0s60°—1

(A) 2

(B) -2

() 3

(D) -3


Free Hand


22. gfe A/5 = 12°, @ 3 cosec® A T HTT T

23. sin 54° - cos 36° =
0
1

A
B

C) 2

(A)
(B)
(C)
(D) - 1

24. cos 1° cos 2° cos 3°... cos 90° =


Free Hand


cos 37° cot 34°

25. sin 53° T tan 56° el %-

cos 37° cot 34° .
The val f
€ value o sin 53° tan 56°

26. 2(sin 45° - cos 45°) =
0
1

A
B
C

N

(A)
(B)
(C)
(D) - 2

27. 7 cosec®0-7 cot?0 T AT §
A

(A) 1
(B)
(C)
(D)

7
C) 49
D) 0


Free Hand


7 The value of cosec®0-7 cot?0 is

28. If¢ sin 48° = p, dr tan 48° & AT &

29. Ife tan 27° tan 63° = sin A, @ A T AT §
A) 27°

C) 90°

(A)
(B) 63°
(C)
(D) 36°

D


Free Hand


If tan 27° tan 63° sin A, then the value of A is
27°
63°
90°

A
B

(A)
(B)
(C)
(D)

D

sin 2(90°—6)+sin 2 6
30. > — =
cose c*(90°—@)—tan~ 6

If the radius of a wheel is j—i metre then the distance covered in 2

revolutions is
A) 10 m
B

C

35 m

(A)
(B)
(C) 22 m
(D)

D) 40 m


Free Hand


32. I &g O 3N BT r arel g # £AOB = 6, df 19 AB &I &aTs
SR &

nro
( ) 180

rd
() e
nro
C) o
nrte
([)) 360

If O is the centre and r is the radius of a circle and 2AOB = 9, then
the length of arc AB is equal to

TL’T‘2
(A) =

rd
(B) 30

(C) ==

180
nre
([)) 360

33. Th 8 cm 3T & 1T el & 1 cm AT & forder 3T MY FATT ST
qdohd & ?

How many solid spheres of radius 1 cm can be made from a solid
sphere of radius 8 cm ?


Free Hand


34. U % & ITUR @ 4 10 cm R gHAT a1 12 cm g, ar AF
AT §

A) 400 = cm®
C) 100 = cm®

(A)
(B) 300 = cm®
(C)
(D) 200 = cm?®

The base diameter of a cone is 10 cm and its height is 12 cm. Then
the volume of cone is

(A) 400 = cm’
(B) 300 = cm’
(C) 100 = cm®
(D) 200 = cm®

35. Teh YT & UIsY & aed F3edr 4 cm 3R 3aRes B&ear 3 cm g1 afg
ggh! waTg 10 cm &1, dr e &1 el gram

(A) 120 cm?®
(B)
(C) 440 cm’®
(D)

The external radius of a metallic pipe is 4 cm and its internal radius is 3

220 cm®

1540 cm?®

cm. If its length is 10 cm, then the volume of metal is


Free Hand


36. Ush % IR Teh dofel & TURT & &1Fhel AT § 3R 37 Thyss &
gathel o TAE g1 Al dofeT T TS 2 A @Y, o AP b Fuig @

The areas of bases of a cone and a cylinder are equal and their curved
surface areas are also equal. If the height of the cylinder is 2 metre
then the slant height of the cone is.

(A) 2 metre
(B) 3 metre
(C) 4 metre
(

D) 5 metre

37. afe P g &1 3—IdeT 125 cm® &, aF g7 & fheIRT U9 T & fJehoT

(A) 1:+3
(B) 5:+3
(C) 25 : V3
(D) 15 : V3

If the volume of a cube is 125 cm?® then the ratio of the side of cube
and diagonal of the cube is

(A) 1:+3
(B) 5 : 3
(C) 25 : V3
(D) 15 : V3


Free Hand


38. e Tohdl HCEEN & HYUT IS T &1Fthel 462 cm’ §, Al 3HeT a1

If the total surface area of a hemisphere is 462 cm? then its diameter is

39. @ defell i SIS & Hqard 2 : 3 § T 3eTehr Fargdl T 3Hedre 5
3 gl 3eieh NI I 3He[dTeT gram

) 27 : 20
) 20 : 27
C)4:9
) 9

The radii of two cylinders are in the ratio 2 : 3 and their heights are in

(A
(B
(
(D

the ratio 5: 3. Then the ratio of their volumes is


Free Hand


40. ITE T Tier 1 sar 3 a0 g1 STl § A S8 A g1 ST

If the radius of a sphere becomes 3 times then its volume will become
(A) 3 times
(B) 6 times
(C) 9 times
(

D) 27 times

(A) a rational number

(B) an irrational number
(C) an integer
(D)

none of these


Free Hand


42, 192$Ha¢malvmagﬁz$rzrraiasw%?

43. If¢ AT TedliRETH a =bg+r, H#a =72, q=8dur=038l, arb
T AT FAT AT ?

If in division algorithm a = bg + r, a = 72, g = 8 and r = 0, then what
is the value of b?

(A) 9
(B) 8
(C) 7
(D) 4


Free Hand


44. fAFAA@T # O e cAHdd YR 9id g ?

Which of the following has terminating decimal expansion?

2
15

(B) —

(C) ~

60

(D) 5=

(A)

45. U UATcHS Uit § dl fArafaf@d & @ Sl uacrs Avw quiie 78
g ?

(A) 8q + 1
(B) 8q + 4
(C) 8q + 3
(D) 8q + 7

If q is a positive integer, which of the following is not an odd positive
integer ?


Free Hand


46. T IR TH TEIATT &l Ho Ho FIaT &

47. T IRAT FEIT 3R T I9RAT T&IT HT J19T hdl J&IAT 8lar g ?
A) quiteh |
) HIRAT &A1

(
(B
(C) 9rehd &1
(

The sum of a rational and an irrational number is which type of number?

A) An integer

C) Natural number

(
(
(
(

)

B) Irrational number
)
)

D) None of these


Free Hand


48. a1 T3 T IUTAhel 8670 & 3R 3a7shT HCF 17 §, @ 311 LCM T
g 2

(A) 102

(B) 85
(C) 107
(D) 510

a1

The product of two numbers is 8670 and their HCF is 17. What is their
LCM?

49. FrrTfatle & & F TRAT TET § 2

(A) V64 + 36
(B) V25 + 25
(C) V49 +49
(D) V36 + 36

Which of the following is a rational number?

(A) V64 + 36
(B) V25 +25
(C) V49 + 49
(D) V36 + 36


Free Hand


50. afy 130 = 15 x 8 + 10 T 15 = 5 x 3 + 0, @ Ho Fo (130, 15) gm
(A) 8
(B) 5
(C) 130
(D) 15

If 130 = 15 x 8 + 10 and 15 = 5 x 3 + 0, then HCF (130, 15) will be

51. (1 —sin* )
(A) cos? 8 (1 + sin? 9)
(B) cos? 6 (1 —sin?8)
(C) cos?6 (1 — cos?6)
(D) sin? @ (1 + sin? 9)

52. AABC # X, Y %#U: ¢ AB 3R AC W ar fd=q & a1 XY || BC |
gfe AX: XB = 2:3, d AY: YC &l #HT 8191


Free Hand


In AABC, X, Y are two points on sides AB and AC respectively and XY
|| BC. If AX: XB = 2:3, then the value of AY: YC is

(A) 3
(B) 2
(C) 1:3
(D) 3

53. a1 AT FAefSil & & Thell T U 121 : 64 &, ol 3eToh HacA
mﬁ‘aarﬁao‘raﬂm?r%

(A) 11 :
(B) 8 :

(C) 121 : 64
(D) 12 : 91

The ratio of the areas of two similar triangles are 121 : 64. Then the
ratio of their corresponding medians is

54. a1 HHEY FHefsit & TRAT HaAw: 30 cm 3R 20 cm &1 e Tger FHeger
T Teh ST T SeTS 18 cm &Y, AT q@lT T3efeT &l Harel ¥ T oaTs glaf


Free Hand


The perimeters of two similar triangles are 30 cm and 20 cm
respectively. If the length of one side of first triangle is 18 cm then the
length of corresponding side of second triangle is

56. & YTl gl T 397gfese TULREBT HT FEar favdel gidr § ?
A) 4

B) 2
C) 1

(
(
(
(D) 3

)
)
)
)

D


Free Hand


The number of common tangents of two intersecting circles is
A) 4
B) 2
C) 1

(
(
(
(D) 3

)
)
)
D)

57. Us g @R Bsar 7 cm 8, hE sEg fSegq P & 97 @ PT
dEIg 24 cm gl IS g & dheg g, o OP T ofars &1 graf ?

(A) 30 cm
(B) 28 cm
(C) 25 cm
(D) 18 cm

A circle is of radius 7 cm. From an external point P length of tangent
PT is 24 cm. If O is the centre of the circle, then what is the length of
OoP?

58. fordll aTed fdeq P & g W Wit 18 Teh T @1 1 &«1g 17 cm &,
dr P & 38 g WX @i 918 g@dl T 3@ HY oleTs §

A) 34 cm

C) 17 cm

(A)
(B) 51 cm
(C)
(D)

D) 17/2 cm


Free Hand


From an external point P, length of one tangent drawn on a circle is 17
com. Then the length of other tangent drawn from P to the same circle

59. g 7 AFAT BT aTel g & oY JAE@s # &% 14 I F g ar &
gAEs FT &% g

(A) 140 To7 oY
(B) 150 Tor q#T
(C) 125 a1 I+
(D) 200 Tr @HY

If the area of minor sector of a circle with radius 7 cm is 14 square cm,
then the area of major sector is

A) 140 square cm

B) 150 square cm

C) 125 square cm

(A)
(B)
(C)
(D)

D) 200 square cm

60. Teh g T &%l 154 cm® §, df SHHT <ATH &


Free Hand


The area of a circle is 154 cm? Then its diameter is

61. gfaaTd FHIRIUT X° + 4x + b = 0 &7 AT §
(A) 16 - 4b
(B) 4b - 16
(C) b? - 16
(D) 16 - b?
The discriminant of quadratic equation x> + 4x + b = 0 is
(A) 16 - 4b
(B) 4b - 16
(C) b® - 16
(D) 16 - b?

62. AFITaf@d H ST AT A& #F &2
A) 0.4, 0.44, 0.444, ...

B) 1, 11, 111, ...

C)

D) 0, -4, -8, -12, ...

(
(
(C) 2, 4, 8, 16, ...

(

Which of the following are in A.P.?
(A) 0.4, 0.44, 0.444, ...

(B) 1, 11, 111, ...


Free Hand


(C) 2, 4, 8, 16, ...
(D) 0, -4, -8, -12, ...

63. AT A V18, V50, V98, V162, ... & I@d IR &


Free Hand


65. I fRAT TATAY A T n af uc 8n-2 &Y, ar 3T AT &I JTddl Ue grem

If in an A.P. a3y - ayy = 50 then the common difference of the A.P. is
(A) 4
(B) 15
(C) 5
(D) 10


Free Hand


67. IfE (2x - 1), (3x + 2) T (6x - 1) FdA FATR AN & DT FAFT UG
g, df x T AT g

(A) 3
(B) 2
(C) 4
(D) 1

If (2x-1), (3x+2) and (6x-1) are three consecutive terms of an A.P., then
the value of x is https://www.bsebstudy.com


Free Hand


69. HATGR AT 72, 63, 54, ... & HII-4T G LT ¢ ?

Which term of the A.P. 72, 63, 54, ... is zero ?

B) 9th
C) 10th
D) 11th

70. fo=g3it (a cos@, 0) T (0, a sind) & &= I g &
(A) a
(B) 2a
(C) 3a
(D)4a

Distance between the points (a cosf, 0) and (0, a sin0) is


Free Hand


If p(x) = 3x> + x* + 2x + 5, is divided by q(x) = x* + 2x +1, then the
degree of quotient will be

If polynomial g(x) = 3x? - 7x + 2, then the value of g(-1) is
(A) -8
(B) 1

(C) -12
(D) O

D


Free Hand


73. 9gUG X° -16 & IR §

The zeroes of the polynomial x*>-16 are
A) +4, -4
B) +4, +4

(
(
(C) -4, -
(

D) none of these

74. AfE 9g9E p(x) = x* - 3x + 5 & YrIH a AN B &, AT 4(a + p) FT AT

If o and B are zeroes of the polynomial p(x) = x* - 3x + 5, then the
value of 4(a + B) is

)

B) -12
) 2
)

-20


Free Hand


75. A SEUE x* - 9x + 2a & YrIehl HT VAR 8 &, A a HT Al g

If the product of zeroes of a polynomial x* - 9x + 2a is 8, then the
value of a will be

76. A 9gUE p(x) FT TF Yrdeh - 1 &, A p(x) FT TH IOAES 1M

If one zero of a polynomial p(x) is - 1, then a factor of p(x) will be

A

><

+1

=

)
B)
C)

x+1

(
(
(
(

D) -


Free Hand


77. farfafad & & fou gfaurd sgue & eIl &1 A3 TT eIl H

Which of the following quadratic polynomials has sum of zeroes - 3 and
product of zeroes 27?

(A) x> +3x+2

(B) x2+2x—3
(C) x2 —3x—-2
(D) x> —3x+2

78. AfE o, B,y TN sgUg ax’ + bx® + cx + d = 0 & YIH &, A «fy
T HTeT BT

(A)
(B) -
(C) -
(D) -

Q|w

a|n

C

(o)
| slg~

D

If o, B,y are zeroes of the cubic polynomial ax® + bx* + cx + d = 0 then
the value of aBy is


Free Hand


80. I 3x - 2y = 12 T 4x - 5y = 16 g, ar

(A)x=4,y=0
B)x=0y=4
C)x=4,y=2
(

D) x=1,y =10

If 3x - 2y = 12 and 4x - 5y = 16, then

(A) x=4,y=0
B)x=0,y=4
C)x=4y=2
(D) x=1,y =10


Free Hand


81. Teh 3éuga foraehr Bear 3r g, 3@t aRfAT g

The perimeter of a semicircle whose radius is 3r is
(A) 3ar + 3r
(B) 3ar + 6r
(C) 3ar + 9r
(D) 3mr

82. fAFITIEd H & lT-8 F&IT fhdll Tcalr T IIRehdr #gT & Fehcll § ?
A) 0
) 2

(
(B
(C) 75%
(

Which of the following numbers is not the probability of any event?


Free Hand


83. Ifg TeaT E # I "eell E'§ o, efoi@d & @ sla-ar @gr g 2
= P(E)

If E' is the complementary event of an event E then which of the
following is true?

(A) P(E) = P(E))

(B) P(E) + P(E) = 0
(C) P(E) + P(E) = 1
(

D) None of these

84. Teh U T T theh H 2 FAGT 3Tod hl W Aehdl AT & ?


Free Hand


85. 3THTI g He T 52 el I U I8ar H H Ire<adl Teh qdr Jrdr 1|
$H& el T & TG &l T TIIAHT T & 2

(A)
(B)
©€) &5
D)sﬂﬁ@aﬂ‘éﬂ'@"’r

A card is drawn at random from a well-shuffled deck of 52 cards. What

1
13
1

N

6
2

is the probability of getting a black king?
(A) =
(B) 5¢
©) %

(D) None of these

86. Iig 24, 27, 28, 31, 34, x, 37, 40, 42, 45, 50 &7 Afegesr 35 g, ar x

If the median of 24, 27, 28, 31, 34, x, 37, 40, 42, 45, 50 is 35, then
the value of x is


Free Hand


87. Tl IRERAT AROT 5T & ¥ fFas FaRor & 3g=ed gar ¢ 2
(A) ATE
(B) FTfCaHT
(C) sgash
(D)sﬂﬁ@raﬁ‘éa@r

The cumulative frequency table is useful in the determination of the
following? https://www.bsebstudy.com

(A) Mean
(B) Median
(C) Mode
(

D) None of these

88. mw,mmmwﬁm-mmw%?

Which relationship is true for Mean, Median and Mode ?

A) Mean - Mode = 3 (Mean - Median)

C

(A)

(B) Mean - Mode = 3 (Mean + Median)
(C) Mean - Mode = 3 (Mode - Median)
(D)

D) None of these


Free Hand


SQ.WWﬁdgﬂ*aﬁwl%?

qar 0-10 10-20 20-30 30-40 40-50

IRERar | 15 20 45 15 25

(A) 10-20
(B) 20-30
(C) 40-50
(D) 318 | FIg el

In the following distribution what is the modal class?

Class 0-10 10-20 20-30 30-40 40-50

Frequency | 15 20 45 15 25

If the mean of x + 2, 2x + 3, 4x + 5 and 5x + 2 is 18 then the value

of x is


Free Hand


A
B

(A)
(B)
(C)
(D) 15

91. Ife fo=g R (a, b), W=g3il P (0, 0) 3 Q(0, 2) H AT @GS
W g, df AFfef@a # & #ld @y g ?

(A) a=0

(B) a=2

(C) b=0

(D) 378 & FIg gl

92. T @3 x = 2 vd y = -3 & yidwoa foeg ¢
A) (2, -3)


Free Hand


93. Zlﬁ'\'tan9=%, ar sin 0 T AT {9

If tané =§, then the value of sin 0 will be
A) 8/17
B) 8/15

(
(
(C) 15/17
(D) 17/8

94. IfE (tan 6 + cot B) = 6 af tan” 0 +cot2 § T AT g

If (tan © + cot ) = 6, then the value of tan® 0 +cot2 0 is

(
)
B) 27
)
)


Free Hand


95. Ife sec 6 + tan 6+ 1= 0, dr sec 0-tan 0 T AT &

V3

If sing = Ex then the value of cosec 0 + cot 0 is


Free Hand


98. Ife sin 0=cos0,0<0<90° ar 0 T AT &

If sin 6 =cos 0, 0<0<90° then value of 0 is

A) 30°

(

(B) 45°
(C) 60°
(

D) 90°

sin 30°+4cos 45°—tan 60° _

99. =
cot 30°—sin 45°—cos 60°

(A)-1
(B)0O
©1
(D) 2

100. tan 30° sin 30° cot 60° cosec 30° =
(A) 13

(B) V3

(C) 1/2V3

(D) 1/3

5


Free Hand




Free Hand


